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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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P3-3

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

07:20 278 150.0 & =| 1Ri%e07:20 Bz (kAEREEE)
08:00 278 150. 0 | {Rig@08:00 Bah (RE{ERSE)
09:15 278 150.0 (& =| 1BRiB@09:15 Bzh (REERESE)
10:05 278 150.0 [ =| 1Ri%@10:05 Bz (kAEREEE)
10:45 278 150.0 & =| 1Ri%e10:45 Bz (kBEREEE)
11:20 278 150.0 (Z=| 1Ri%@11:20 Bz (REERSE)
11:55 278 150.0 (& =| 1Bige11:55 Bzh (REERESE)
12:30 278 150.0 | =| 1Ri%e12:30 Bz (kAEREE)
13:05 278 150.0 FA| 1BRi%@13:05 B3h (KRAHERE)
13:45 278 150.0 FA| 1BRi%@13:45 B3h (KRAHERSE)
14:30 278 150.0 FA| 1Bi&@14:30 B3 (RAEREE)
15:20 278 150.0 | =| 1Ri%@15:20 Bzh (GRABHEREE)
16:10 278 150.0 (Z=| 1BRi&e16:10 Bzh (REERSE)
17:15 278 150.0 [Z=| {Ri&e17:15 Bz (REAEESE)
2it]3892.0 (14)%) 2100.0 3EGHKEC: 2080.0, PH: 5.7

#H[EKRECE (2393.0 vs 4400.0) 35
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P3-3_0, Day=59 (2025-05-27)

L e e o e e e e o e o B roet L 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685
2300 340
100 15700 1790 735 2000
390
50 - 1000
60
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P3-3

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:15 278 150.0 5| {Ri%e07:15 Bz (RAERSE)
08:05 278 150.0 = {RRiB008:05 B (FRFAEEE)
09:15 278 150.0 = RRiB009:15 Bzh (REAKEE)
10:15 278 150.0 (& =| 1BRige@10:15 Bzh (REFRESE)
11:00 278 150.0 =l {Rige11:00 B3 (RAERSE)
11:45 278 150.0 =l RRiBe11:45 Bz (REAEEE)
12:30 278 150. 0 E| {Rig012:30 B3h (RE{ERSE)
13:15 278 150.0 E BRige13:15 Bz CGRAERSE)
14:00 278 150.0 = Ri%e14:00 B (REMREEE)
15:15 278 150.0 El BRige15:15 Bz CGRAERESE)
21t 2780.0 (10)%) 1500. 0 32 03KEC: 2080.0, PH: 5.6

#HERECE (2370.0 vs 4120.0) 35




FRV (ml plant-1)

%
l

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=58 (2025-05-26)

o fF———————fF————F—————f 3000
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
300 1 Bylnit# @D61 01:44: ET=1520 Fg=1950.0 Ro=395.0

- 2000

200 -

- 1000
100 A

e o ol

p——&
0 —a

0 1
3001 B | B

ByEt @D58 19:10: ET=1360 Fg=1560.0 Ro=nan I - 2000

L 4
PS

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i 5 5 5 i H 5 G A B H 5 A B 5 G A B 5 G A

200 -

- 1000
100 A

0 [ 1 2 | 3 [ a5 6] 789 JoJin[12]@[14]15[16][17[ 18] 19207212723
01 FF | B | s [BF | FE | B | Hs [BR | FE | R || BE | FE | B | H5 [ BR | BF | M |Z=[AM| M |25 |%5=| B

ByWoFv @D61 01:44: ET=1235 Fg=1500.0 Ro=273.0 - 2000

200 -

- 1000
100 A

ET (ml/hr/plant)

1.0

0.8

0.6

0.4+

0.2~

0.0
1500 1 | I

[ ] | _obs

1000 ~ —@— PPFD_obs

500 A

RH
404+ @ RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=470, FV0=0 m=510, FV0=0 m=573, FV0=0

5.2 o wE 15.401 o 1561 o wE
15.0 4 15.35 7 15.5 4
15. 30 -
14. 8 - 15. 4 -
15. 25 -
14.6 - 15.3 -
15. 20 -
14. 4 - — 15.2 -
14.2 - 15.10 15.1 -
T T T T T T T T T T T T T T
500 600 700 800 900 470 475 480 510 515 520 575 580 585
m=620,m FV0=0 m=665,m FV0=0 m=710,m FV0=0 m=750,m FV0=0
1571 o e 1581 o e 16.01 o e 16.11 o e
15.9 -
15.6 - 15.7 - 16.0 -
15. 8 -
15.5 - 15. 6 - 15.9 -
15.7 1
15. 4 1 15.5 - 15. 8 -
15.6 -
15.3 - 15. 4 - 15.5 - 15.7 -
T T T T T T T T T T T T
620 625 630 665 670 675 710 715 720 750 755 760
m=800,m FV0=0 m=835,m FV0=0 m=885,m FV0=0 m
1611 o e 16.21 o g 16.21 o uE 2 | —o—
16.0 1 16. 1 - 16.1 -
15.9 - 25 A
16.0 - 16.0 -
15. 8 -
15.9 - 15.9 - 24 1
15.7 4
1564 15. 8 - 15. 8 - 23 -
15.5 - 15.7 - 15.7 1 29
800 805 810 835 840 845 885 890 895 500 600 700 800 900
m=470,m FV0=0 m=510,m FV0=0 m=575,m FV0=0 m=620,m FV0=0
2457 o W —o— MW | 250- —-o— MW —— MW
25.0 -
24.0 4 25 0
24.5 -
23.5 - 24.5 -
24.5 -
24.0 -
23.0 - 24,0 -
22.5 2407 23.91
23.5 -
470 475 480 510 515 520 575 580 585 620 625 630



25.

24.

24,

23.

25.

25.

24.

24,

23.

m=665, FV0=0

—0—

M_W

T
665

6%0 6;5
m=835,n FV0=0

—0—

M_W

T
835

T
840 845

25.

24.

24.

23.

26.

25.

25.

24,

m=710, FV0=0
—-o— MW
0_
5_
0_
5_
7%0 7%5 7&0
m=885,n FV0=0
—o— MW
0_
5_
0_
5_
8é5 8é0 8é5

m=750, FVO0=0
25.5
—— MW
25.0 -
24.5 -
24.0
23.5 -
T T T
750 755 760

m=800, FV0=0
25.0 —@— MW
24.5 A
24.0 -
23.5 A
23.0 A
T T T
800 805 810




hour

100

80

- 60

- 40

§_

%

%

e
6\
%
7
e
-
%,

o

\ R
N N
S
Q\z\ %7\

2
>
L

&

£

%,
&

At ’@(26_.?
%

%

%



P3-3

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:10 278 150. 0 E BRi&e07:10 Bzl (GRAEREE)
07:55 278 150.0 5| {Ri%@07:55 B3 (FRAERSE)
08:40 278 150.0 = {RRiB008:40 B (FRFAEEE)
09:45 278 150.0 5| {Ri%@09:45 B3 (KRAERSE)
10:35 278 150.0 El 1BRi%010:35 Bz CGRAERE)
11:15 278 150.0 =l {Rige11:15 B3 (GRAERSE)
11:55 278 150.0 S| {Rige11:55 B (REAERSE)
12:35 278 150. 0 E| {Rige12:35 Bzh (RE{ERSE)
13:15 278 150.0 E BRige13:15 Bz CGRAERSE)
14:05 278 150.0 = Ri%e14:05 B (REAREESE)
15:05 278 150.0 E BRige15:05 Bz (GRAERERE)
16:10 278 150.0 F BRige16:10 Bz CGRAERE)
24t 3336.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

FHERECE (2323.0 vs 3847.0) i d5




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=57 (2025-05-25)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=435, FV0=0 m=500, FV0=0 m=560, FV0=0
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